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Question One :

a. The stages involved in testing a leaf for starch are shown below.
The stages are in the correct sequence, but the reasons are in the
wrong order.

Use straight lines to match the stages with the correct reasons.

stage reason

| ethanol (alcohol) is

boil the leaf in water flammable

tumn off any naked to test for starch

flames

boil the leaf in ethanol to break down ceill
(alcohol) membranes

soak the leaf in water to remove chlorophyll

add iodine solution to

the leaf to soften the leaf
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b. Explain why chlorophyll is removed from the leaf before testing it for starch .

c. State two factors other than carbon dioxide , that plants would need in order
to photosynthesise :

d. Explain why the plants were destarched .

...... to remove any starch that will affect the results of our experiment ....

Question Two :

a. Complete the word equation of photosynthesis .

light

Carbon dioxide + water c<"ereeh!

glucose + oxygen ..

b. An experiment is set up to find out if carbon dioxide is needed by plants
for photosynthesis. Two plants were de-starched and then put in glass
containers A and B as shown in the diagram.

After two days in the containers the plant leaves are tested for starch.

A /%%\ Y ight | %\ Y ight

potted plant —_| glass | _— potted plant
container
sodium hydrogen carbonate </€ar-plastic bag tied over \
the pot soda lime
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e List two controlled variables .

Question 3:

Circle the correct answer :

.The diagram below shows a section through a leaf.

Which cell type would have the highest concentration of oxygen on a bright, sunny
day?

2. Two test tubes are set up with two similar leaves inside them, as shown in the
diagram below. One test tube is exposed to light ,while the other is kept in the dark.

The test tubes are left for 4 hours. What color will the
hydrogen carbonate indicator solution be in each test
tube? Green leal —_ |- Green leaf
dark light

A DUTF"E' E'IE“C"W - Black paper

B [colourless yellow 61\ )

C purple colourless N

Red
@}I‘E”DW FI'IJFFJ|E' hydrogencarbonate

indicalor solution
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Question 4 :

Fig. 3.1 is a scanning electron micrograph of a vertical section through part of the
leaf of a broad bean plant, Vicia faba.

air spaces <

Fig. 3.1

i)  State the names of the tissues labelled A and B.
ii) The cells in regions B and C in Fig. 3.1 have a large surface area.
Explain why this is necessary for the functioning of the leaf cells.

to absorb the maximum amount of light for photosynthesis

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

iif) Explain why there are many interconnecting air spaces within the leaf.
............ for easy diffusion of gases in the leaf ............
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